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CHEMISTRY REVISION
UNNIKUTTAN

1. Which of the following properties of an atom could be
explained correctly by Thomson Model of atom?

a. Overall neutrality of atoms.

b. Spectra of hydrogen atoms.

c. Position of electrons, protons and neutrons in
atoms.

d. Stability of atoms.

Ans :: a
2. Oxidation state of Cu in [Cu (NHj3), (H>0), ] Cls

a. 6
b.9
c.3
d.?2

3. Two atoms are said to be isobars if,

a. They have the same atomic number but different
mass number.

b. They have the same number of electrons but
different numbers of neutrons.

c. They have the same number of neutrons but different
numbers of electrons.

d. The sum of the number of protons and neutrons is
the same but the number of protons is different.

4. Units for rate constant (k)for all pseudo first order



@ entri

reactions is

a.mol'Ls
b.mol"L's™
c.molL's™
d.s’

5. Conjugate Acid of HCOj"

a. CO,*

b. CO5

c. H,CO4

d. none of these

6. Acidity of BF; can be explained on the basis of which of
the following concepts?

a. Arrhenius concept

b. Bronsted Lowry concept

c. Lewis concept

d. Bronsted Lowry as well as Lewis concept.

7. The role of a catalyst in a reversible reaction is to

a. alter the equilibrium constant of the reaction
b. increase the rate of the forward reaction
c. allow the equilibrium to be achieved quickly
d. decrease the rate of backward reaction

8. In the reaction, H,(g) + Br,(g) = 2HBr(g), what will happen
if there is a change in pressure?

a. equilibrium moves left
b. equilibrium moves right
c. there is no change in equilibrium
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d. we cannot say

9. What will be the molality of the solution containing 18.25

10.

11.
from bauxite by using an electrochemical process?

12.
purified by the van Arkel method are:

13.
when you Move from Left to Right of the Periodic Table?

g of HCI gas in 500 g of water?

a.0.1m
b.1M
c.0.5m
d1m

One mole of oxygen gas at STP is equal to

a. 6.022 x 102 molecules of oxygen
b. 6.022 x 10%® atoms of oxygen

c. 16 g of oxygen

d. 32 g of oxygen

What is the term given to the extraction of aluminium

a. Baeyer’s process

b. Hall-Heroult process
c. Mc-Arthur process
d. Blasts process

A pair of metals among the following that can be

a.Zr,and Ti
b. Ag, and Au
c. Ni, and Fe
d. Gaand In

What Happens to the Metallic Character of Elements



@ entri

a. Decrease.

b. Increase.

c. Initially increases and after that decreases.
d. Remains constant

14. Among the following cells primary cells are

) Leclanché cell

(i) Lead storage battery
) Mercury cell

(iv) Nickel-Cadmium cell

a.i&iv
b. ii &iii
c. | &iii
d.ii &iv

15. Which of the following is an example of a non-ideal
solution showing positive deviation?

a. Acetone + Carbon disulphide
b. Chlorobenzene + Bromobenzene
c. Chloroform + Benzene
d. Acetone + Aniline
Ans : a
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1. 8G®20006M @Yo MIWH: DaleWINs] B BRYYTHHM]
M1 |0QIN WeMEBEITD G®6M” VA1 AUETBE1BHIM

5HG1QH?

a. ©RQEEEss snomONless MAQT YD

b. 00.0W=M BRQEeses MVaald.

C. ©RQEESLl MAICHIMD:SHSWo EEJOEFMMBSHSWV0
MY ESIMOBSHSQo TUOIMo.

d. cpgmsges mucloo.
Ans :: a
2. [Cu (NH3), (H20), | Cl; ee1 Cu @es sogle:eemoaiaun

a. 6
b.9
c.3
d.?2

3. EME’ BRYQEBOS Haf)ETVIMIIQYBHUD )i’ alOQMO,

a. @RAIY’ 360 BRYEYIATE: MVoAIJWIEM; alCHHU AYDIIY AIAV
Mo WIEM.

b. GraIY” 860 ag)imo MEICHITMGHBITMSID®Y, alGEH QUL LAY
ag)6Mo M écseoamce)gom@g@”.

C. @RAIYY BEQ af)sTRo MYIGSITNOHSITNOBB®, alEHHU QUIDIY
af)6No MLIBHIMMHSINMSBO).

d. ¢eJoegMB8HSW0 M JESITOHGOSWYo af)emO» 1003
@YOHAV S BMODOMWINEMELLJo GaJOBSIMBBOS af)siNo

QU@ §aORI6M.
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. af)BI0 Hals 8aMIo BIAWA (J®JIBODMEBBUDHE)o ML

amudleosmomlead (k) cggam%oea(f%

a.mol'Ls
b.mol’L's™
c.molL’'s™
d.s’

5. HCOj3™ a3 avouin @rymilaw”

a. COz%
b. CO5
c. H,CO4

d. oI01Od smmoilel

6. 269 a10QMAIVIBY oG @YUM 193 @RSINLOIMO]LI0EM”

BF; 63 @pavlanigl aNwsle:clenim &e1Qse.?

@RAIMIQMY avlevoamo
. GEIETIOANVOAL) @101 mylavoamo

AJolav” avlevoamo

QO 0 T ®

. GEJOETOANVQAL - 6e1061Qo, BjRlay” MIlELIMEEBRUD

7. 8@ alla1e1® @O JdCMOTICE 8@ TIE(IOBOTIHD

v

alth

(oom@m@mm@d]@q@ el Mukledso 20Q@,
. 0J6R0BJAIROMOBIOM Mlods” AdESlo o)

MLADENI®IQUMTVO GAUNAHITD HOBAURHHIND BRAAURSBH:

QO 0 T ®

. 10RO JAIROTMOHNOM MBS B:0P:

8. eI MOMI@, Hy(g) + Bry(g) = 2HBr(g), adgolod

MmIQo QIMI@D g Mo H630?

a. MLAAImINITLO MSCOMA MT6BZAD
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b. cvamemoaiacun aleicomes” MR
C. ML@@el®mIAUMNIG] lolelolielequtnfl=]

d. maes” 0100 @¥1e)

9. 500 oo aaisse@ 18.25 o HCI anm .o @rsmrlw

10.

11.
mlan’ Greyelml@oe cd@I@16)5iS)EMMMN@ EROIWeSIN®?

12.

@I 2 l0QMAUWID@D 2flel GRIa0EBUY HAIWIEM:

PIOMIYeS cnoxzdellgl af) 2010 H8307?

a.0.1m

b.1M

c.0.5m

d1m

STP ®oel 8@ 62008 80812200 Qom0 @6

a. 6.022 x 10?3 B0gIRM OMI@HUD
b. 6.022 x 102® 3010 @RYQEBRUD

C. 16 W20 Bog=M
d. 32 ¥Woo BoGRM

@elczoeggoe)oe)’loeo@% @& DalcWIN]a) csauoce;‘@es)mg%&

GMNIVQNS ()1
. 200UB-6a0C0IRAS (@&
DH-BRADAD (B 1w

O 0 O @

. BGNYISM (@JBH1V

Q1000 ERYABO@D 1M alcWIWlaf YRL1BG1EHIM BHE1QYIN

a. Zr, Ti

b. Ag, Au

c. Ni, Fe

d. Ga, In agamiau
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13.  @RARCM|SHWOS BserMIM” ALICOmIs MIEREMIND

REIGHEBBBOS GO TVIBIAIAMIM” af)an” Moc0fNdRB0?

H0QAM.
. adeSlenm).
@59 AUBERLIEN M), @AM G:oqamn.

O 0 T @

. nuAlemW @STAD.
14. @mmldlesam @m%@@’l@% O @Jn0l @m%oea(ﬁ)
()  oelgIe HALGY
(i) ee1w” canocoe” Mol
(i) 92@09)A] HaVwd
(iv) Moo -HIUWAWo oL@

a.i&iv
b. ii &iii
c. | &iii
d.ii &iv

15. 969 a10QMAIRI@ o@®em” Galdavlglal aly@lwomo

»HI6M1H6B3aM 33 (GT@B@UO%D(UTG) L10M1EH” OB2a006Mo?

@ROTVEQIETI + BH0QETUEM HEAWIVUWBOHNNLY
. @»06000sNIMAVIM + EEnJoenamIdmIlm

o T p

@H0G0IBaNI0 + NIV
d. «mamegomﬁ + @Ml
Ans :: a

THANK YOU



